D. Kapasa

Status of Deductor (Fill Type of Deductor also in Row 32)	Change of Address of Deductor since last Return	Telephone number of the Deductor	SID Code of the Deductor	Email of the Deductor	PIN Of the Deductor	State of the Deductor	Hown / City // District	Area / Locality / Italiuka / Sub division	Road / Street / Lane / Post Office	Name of premises / Building // Village	Hat/ Loon/ Block No.	Branch/Division of the Deductor	Name of Deductor		TAN of Deductor Validate Data
O - Other than Central Government	No	66335551	040	accounts@modiproperties.com	500003	ANDHRA PRADESH	SECUNDERABAD	Ranijung	M.G.ROAD,	Soham Mansion	5-4-187/3&4, Ilnd Floor,	SECUNDERABAD	Aedis Developers LLP	ABPFA0002Q	HYDA23565D

			4	ļ	د.	4	٥	_	Challen Serial Ac
			194C	1240	1040	7461	5	194C	Section Code
	67,335	Ì	5.113	12,1//	10 177	17,800	10.000	30.185	Broome Tax
			_						Surctiange
									Education Cess
									Secondary & Higher Education Cess
		201.00	307 00	365.00					Interest
									Late Fee u/s 234E
-			-			_			To Only
APPROVE	58,007	5,420	4 400	12,542	10,000	10 860	20,100	20105	Total Tax Deposited
\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	LED BY	Omine Transfer 0300218		12,542 Online Transfer 6360218	CHILL Transfer 07 10333	Online Transfer	Online Transfer 6910333	D-1:	Cheque/DD No.
		200719	20010	360218	710000	010222	910333	01000	BSR Code
	_	23-06-2020		27-04-2020	0202-00	veve ev sv	06-02-2020	20000	Date on which Tax Deposited
		31129		3144	24433	2422	10512		Bank Challan No./Transfar Voucher No
		\$	100	25	No.		₹		Whether deposited by book entry 2765/No
		200	200	200	200		200	The state of the s	Minor Head of Challan

Me

25 JUN 2020
A. SAMBA SIVA RAO
SR. MANAGER-ACCOUNTS

	۱ د	2 6	2	.)	- ,	_		1	-	-	-		-	<u> </u>				-	- -	-	- -	- -	<u>-</u> -	-],	_ - -	- -	-	-	- -	-	
1940		_!_		1													10/2	194C	1045	1040	1946	1546	10/10	1010	1040	1046	1040	1940	1940	194C	
02-Other than Companies	02-Ouler man Companies	02 Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	Of Other than Companies	02-Other than Companies	02-Other than Companies	02-Oner than Companies	02-Other than Companies	oz-Ouler than Companies	02-Other than Companies	oz Culci man Companies	02-Other than Companies	02-Other than Companies				_1	walling that have been selected as a selection of the sel
ADYPA2972Q	DCAPK7785K	AEQPR6876M	AT QPB046UN	ATOPPCACONT	ACQFS2044C	ACQF32044C	ACQES2044C	VCOE83011C	ACOESSOMAC	ACM/DCOSES A	AAGFK7134F	ACOECONIO DO D	V VDCM2005D	A A DCM SOOK D	ACQF32044C	BEVPBS933D	CINDL W27A7	ANDPK3294J	BMGPK3085A	ACIFS61/8F	ACQFS2044C	DCAPK7785K	BDEPB3316C	A I UPB040UN	BLPPM163J	ATQPB6460N	DCAPK7785K	ATQPB6460N	AJIPM8876F	BTAPB9363D	CALVO DE LA COMPANION DE LA CO
Y. Radha Krishna - Allowance for Con	T.Kurmanna	Sri Bhavani Digitals	Bilgaya Yaday Const Contract	Summit Sales Lip Logistics	Samuel Sales LLF Common Expenses	Cummit Solor II B C	C Parish A /	Kovnri Consultante	Ivious Housing Pyt Ltd	Trick In the Second Inches	Modi Housing Pvt Ltd	Summit Sales Lip Logistics	B Kranthi on A/c	Av Nagi Keddy on A/c	Kv Nagi Reddy on A/c	K Ramulu Allow for Equip Hire Charge	Shreyas Services	Summit Sales Llp Logistics	T.Kurmanna	B Indhira - on A/c	Bilgaya Yadav Const Contract	Md Adil Pasha - on A/c	Bilgaya Yadav Const Contract	T.Kurmanna	Bilgaya Yadav Const Contract	SOCIAL DNA	Tajeshwar Security & Facility Managen				
2,550	5,850	2,500	3,42,000	3,000	45,535	18,000	3,356	13,969	50,000	18,300	18,000	8,480	8,480	10,600	5,750	14,580	7,000	62,050	15,030	5,639	9,125	3,000	30,000	1,32,000	5,000	2,43,000	4,563	58,000		17,630	
1%	1%	1%	1%	10%	10%	10%	10%	10%	10%	10%	10%	10%	10%	10%	10%	5%	5%	5%	2%	2%	2%	1%	1%	1%	1%	1%	1%	1%	1%	1%	Date on Resident Control of Contr
26	59	25	3,420	300	4,554	1,800	336	1,397	5,000	1,830	1,800	848	848	1,060	575	729	350	3,102	300	113	183	30	300	1,320	50	2,430	46	580	128	176	
29-02-2020	29-02-2020	29-02-2020	29-02-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	31-01-2020	

		Т	Т	Т	_	_	_	т-		_	_	_		,	_	,												•												
ļ	ى د	3 0	3 U	, ,	, ,	, .	J U	, ,	2 62	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2		,
1740							_	ட	194J	194J	194J	1941	1941	1941	194C	194C	194C	194C	194C	194C	194C	194C	194C	194C	194C	194C	194C	194C	194C	194C	194C	194C								
02-Other than Companies	02-Other	02-Other	02-Othe	02-Othe	01-Companies	01-Companies	01-Companies	02-Othe			Щ.		<u> </u>	L		_	ــــــــــــــــــــــــــــــــــــــ		L:	_		_							Ь_	<u> </u>	┖	┖								
than Con	than Con	than Con	than Con	than Cor	than Cor	than Cor	than Cor	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	panies	panies	panies	02-Other than Companies	er than C	er than C	er than C	er than C	er than C	er than C	er than C	er than C	ner than (ner than (ner than (her than (her than (her than (her than	her than	her than	ther than	ther than	ther than					
panies	panies	panies	ipanies	panies	npanies	npanies	npanies	npanies	npanies	npanies	npanies				mpanies	mpanies	mpanies	mpanies	mpanies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	02-Other than Companies	So o .
CAPPB1174H	BBIPM8347N	ATQP	ATQP	CAPP	DCAP	ACLP,	AEQPI	ACQF	ACQF	ACQF	ACQF	AADO	AAD(AAD	BEVP	BEVE	BTJP	CZSP	TDQT.	ABL	BEV	ВМС	ACO	ACI	ACC	ATC	ΑŢ	DC,												
31174H	8347N	ATQPB6460N	ATQPB6460N	CAPPB1174H	DCAPK7785K	ACLPA3779P	AEQPR6876M	ACQFS2044C	ACQFS2044C	ACQFS2044C	ACQFS2044C	AADCM5906D	AADCM5906D	AADCM5906D	BEVPB5933D	BEVPB5933D	BTJPG3593F	CZSPK1591F	DGLPK2372F	ABLPE7695K	BEVPB5933D	BMGPK3085A	ACOFS2044C	ACIFS6178F	ACQFS2044C	ATOPB6460N	ATOPB6460N	DCAPK7785K	BDEPB3316C	CAPPRI174H	DCAPK7785K	ATOPB6460N	DCAPK7785K	ATQPB6460N	DCAPK7785K	ANZPY1425H	BTAPB9363D	AEQPR6876M	AJIPM887	1007
Bomin	M Su	Bilga	B Yadav	Bom	T.Ku	Saish	Sri B	Sum	Sum	Sum	Sum	Mod	Moc	Moc	BK	BK	Gad	Ž.			B ;	7 9	S																	
Bomma Suresh	M Sudarshan on A/c	Bilgaya Yadav Const	dav	Bomma Suresh	T.Kurmanna	Saishiva Graphics	Sri Bhavani Ads	Summit Sales LLP	Summit Sales Llp Logistics	Summit Sales Llp Logistics	Summit Sales LLP Common Expenses	Modi Housing Pyt Ltd	Modi Housing Pyt I td	Modi Housing Pyt I td	B Kranthi on A/c	B Kranthi on A/c	Gadapa Murali Mohan	K.I.akshmi Duros	K Rohith	E Prasad - Incentives	Kranthi on A/c	K Ramidii Allow for Equin	nmit Sale	Shrevas Services	Summit Sales I In Logistics	Bilgava Yadav Const Contract	ogva Var	T Kurmanna	B Indhira - on A/o	Romma Sura	Kurmonn	Biloava Vaday Const Contract	T.Kurmanna	Biloava Yadav	T Kurmanna	Y Raiesh	Taieshwar Security &	Sri Bhavani Dioitale	SOCIAL DNA	SDW TIPAPITO TIC
	1			1		hics			Llp Logi	Lla Logi	LLP Cor	Pyt Ltd	o Pvt I td	o Pyt I fd	A	A/c	ali Mohar	nroa			A/C	llow for	i in I	vices	i la la	av Const	one Cone	or CAC	On A/c	ach a	a A COTTO	day Cons			នី	Cooming	Security	Digital	ĂNA	CDC 11
		Contract						-	stics	stics	nmon Ex					,			56	Δ/α	Edmb LI	gistics Equip II:	riction	Some	orieties orieties	Contrac					TOTAL ST		Course Countact	Contra		C I actify Mid	የ	"		-
	_	\downarrow	_			_		Expenses		journous	Denses										re Charge	2									2		,	*		y ividilagen	Mona			
377	4.950	2.19.000	1.17.000	2.475	6 275	19 000	23.000	2	5.025	2 7 7	19 307	0,480	0,400	»,c	2,4);			4,		1,49,480	3,21,000			2		2,5		C,1				T	 	1	_
		0	<u> </u>	7 (7 3	5 3	3 3	000	25	07	9 8	8 8	3 8	0,000	4,000	8	8 8	8 8	130	0,000	1,800	11,609	4,139	9,125	,480	8 8	0,162	12,000	2,200	5,075	2,51,000	0,8/0	1,51,000	3,33/	000	10,040	13,123	2,/3/	1 8) 30
: ;	10%	10%	10,70	10/	10/0	10/	10%		10%	10%	10%	10%	1	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	5	5	5	5	· ·							-		<u> </u> -	_			_			_					··
+	+	+	+) 6		× ×	18	%	1%	70%	5%	5%	5%	5%	5%	5%	5%	2%	2%	2%	2%	%	1%	%	1%	1%	1%	1%	I%	1%	1%	1%	1%	1%	1%		100
2	0,51,7	3,1,1	3 5	3 8	190	230	3 6	S	241	1,840	1,060	848	848	400	200	4	4	4	7	250	36	233	83	183	1,495	3,210	61	120	22	51	2,510	59	1,510	36		167	131	. 98	١	
0	٠ ،	3 4	2 12																															5	6	7	-	8	ĕ	,
31-03-2020	31-03-2020	31-03-2020	31-03-2020	31-03-2020	31-03-2020	31-03-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02-2020	29-02	29-02	1
<u>r</u> ⊆	ء اح) C	ြင်	Ιŏ	Ö	Ιĕ	18	[8	(<u> </u> 2	8	20	20	20	20	20)20	720)20	020	920	920	8	020	020	020	2020	<u> 2020</u>	2020	2020	2020	2020	2020	2020	2020	2020	-2020	-2020	29-02-2020	29-02-2020	

	67,335							
31-03-2020	1,800	10%	18,000	Summit Sales Llp Logistics	ACQFS2044C	194J 02-Other than Companies	194J	4
31-03-2020	2,447	10%	24,467	Summit Sales Llp Logistics	ACQFS2044C	02-Other than Companies	194J	4
31-03-2020	866	10%	8,654	Summit Sales LLP Common Expenses	ACQFS2044C	02-Other than Companies	194J	4
31-03-2020	84	10%	840	Summit Sales LLP Common Expenses	ACQFS2044C	02-Other than Companies	194J	3
31-03-2020	848	10%	8,480	Modi Housing Pvt Ltd	AADCM5906D	01-Companies	1941	3
31-03-2020	848	10%	8,480	Modi Housing Pvt Ltd	AADCM5906D	01-Companies	1941	3
31-03-2020	2,272	10%	22,720	Summit Sales LLP Common Expenses	ACQFS2044C	02-Other than Companies	194J	3
31-03-2020	1,060	10%	10,600	Modi Housing Pvt Ltd	AADCM5906D	194I 01-Companies	1941	3
31-03-2020	1,800	10%	18,000	Summit Sales Llp - Logistics	ACQFS2044C	194J 02-Other than Companies	194J	3
31-03-2020	350	5%	7,000	Kv Nagi Reddy on A/c	ANDPK3294J	194C 02-Other than Companies	194C	3
31-03-2020	350	5%	7,000	M Suresh	CMJPS3334L	194C 02-Other than Companies	194C	3
31-03-2020	250	5%	5,000	Bedide Kranthi Salarie	BEVPB5933D	194C 02-Other than Companies	194C	3
31-03-2020	160	2%	7,992	V Green Media Pvt.Ltd	AADCV9375P	02-Other than Companies	194C	3
31-03-2020	183	2%	9,5	Summit Sales Llp - Logistics	ACQFS20446	02-Other than Companies	194C	ယ်
31-03-2020	29	1%	2,250	T.Kurmanna	DCAPK7785K	194C 02-Other than Companies	194C	ဒ

APPROVED BY

2.5 JUN 2020
A. SAMBA SIVA RAO
SR. MANAGER-ACCOUNTS

